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® ma+ mb—-m=m(a+b)

@) 6402 + 32ab + 4b* = (8a + 2b)?
® -4a® + 9b* = (2a + 3b)(2a - 3b)
@ x*-5x-6=(x—-2)(x-3)

® 2x% = 5xy + 3y* = (x - 3y)(2x ~y)
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@ ma+mb-m=m(a+b-1)
®—4a® + 9b*> = —(2a + 3b)(2a — 3b)
@ x?-5x—6=(x—6)(x+1)
® 2x% - 5xy 4+ 3y? = (2x - 3y)(x - y)
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= x(x + 8)
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a=3-V10,b=7-V5,¢c=3+V10,d=7+ V5
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“a+b=23




o} 1994 oABCD , oCEFG ,
oEHL) &= 25 ZARZFgolal 11 4
o= A2t S, Sp, Sz Olth. §1 =1
($2= 381,55 =15, % . BH
o Folg Fotul?

@ 4-13
@4+3\/§
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y=x*+2x-3=(x+1)2?-4
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y=0¥ W x®+2x-3=(x+3)(x-1)=00°]EZ
A(-3,0), B(1,0)
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3a-3=caBA a=
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(@+3)(B+3)=-3
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(@,8) = (-2,-6) (~4,0)
ca=-a-B-3N5a=15
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L —a—-f-3=
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mepA] IEAHO] A2 y=—2x% —4x+7=-2(x+1)2+9
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